NEW ENGLISH FILE: Intermediate — Unit 3A

Grammar:
Exercise 2C
1D 2C 3B 4A 5E

Grammar bank:

a) 1 don’t have to 2 must 3 didn’t have to 4 Do you have to
6 Did you have to 7 shouldn’t 8 mustn’t
b) 1 shouldn’t go 2 they have to 3 don’t have to 4 should talk

5 mustn’t go/drive

Reading:
4b) The English and Russian idea of good manners is different.

4c) 1 F (She got angry because of the way he asked her to pour him some tea)
2T
3T
4 F (He was very surprised, i.e. amazed)
5 F (It was disgusting)
6 F (She was angry)
7T
8T
9 F (They thought she was mad)
10T

5 had to



